
 

 

 



  
 

 

𝐹(𝑥) = ෍ 𝐶௜𝑥௜

௜

𝑔(𝑥, 𝑝) ≤ 0

𝑥 ∈ 𝑋⃗

𝑋⃗

𝐶௜

𝑔

𝑝

 

 



  
 

 

 

 
 



  
 

 



  
 

 

 

 

𝑃௦௢௟௔௥ = 𝐺𝐻𝐼 ⋅ 𝜏௣௩𝜂௥௘௙𝐴[1 − 𝛾(𝑇 − 25)]

𝜏௣௩  

𝛾  

𝐴  

𝜂௥௘௙  

𝑇

𝑃௦௢௟௔௥ ∝ 𝐺𝐻𝐼

𝑃௪௜௡ௗ =

⎩
⎨

⎧
0, 𝑈 < 𝑈௜௡ , 𝑈 ≥ 𝑈௢௨௧

1

2
𝜂𝜌𝑈ଷ ቆ

𝜋𝐷ଶ

4
ቇ ,  𝑈௜௡ ≤ 𝑈 < 𝑈௢௨௧

𝑃௥௔௧௘ௗ , 𝑈 = 𝑈௥௔௧௘ௗ



  
 

 

𝜂  

𝜌  

𝑈  

𝑈௢௨௧  

𝑈௜௡  

𝑈௥௔௧௘ௗ  

𝐷  

𝑃௥௔௧௘ௗ

𝐿ஶ

:



  
 

 

𝑃௖௔௣௜௧௔௟ =
𝑟

1 −
1

(1 + 𝑟)௡

⋅ 𝑃𝑉

𝑃௖௔௣௜௧௔௟  

𝑟  

𝑛  

𝑃𝑉

𝑃௧௢௧௔௟ = 𝑃௖௔௣௜௧௔௟ + 𝐶ிைெ

𝐶ிைெ

𝐷(𝑡) = 𝑟(𝑡 − 𝑡଴) + 𝐷଴

𝐷଴  

𝑟  

𝑡  

𝑡଴

𝐿ଵ



  
 

 

 



  
 

 

 

 

𝐸௠௔௫ = (𝑃ଶ଴ଶସ − 𝑃௥௘௧௜௥௘௠௘௡௧) ⋅ 𝑁௛௢௨௥

 



  
 

 

 

 

 

 
 
 
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